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When one financial figure is expressed in terms of another financial

figure, name the relationship established between them.

Vo T forig ofd @ g R ofw & weww H o fe S @ A 39 el
& A wWfud gEey & A SdiRu |

Give the meaning of partly secured loan.

it gd ®=o1 w1 3 TR |

When is an Investment treated as a Fixed Asset ?

fafre & e g w9 9 S @ 2

Explain in brief the meaning of Cost Accounting.

AN G & 'Y H o guemEu |

Is it essential for a Private Company to obtain a certificate of

commencement of business ?

T T faell FO S ANR A S & U yHu-v Wi S e @ 2

Explain the meaning of Accounting framework.

WG 2T & 3 IR |

Under which heading will you show the following in the Balance Sheet
of a company as per Schedule VI Part I of the Companies Act 1956 ?

Calls in arrears, Uncalled liabilities on partly paid shares, Stores &
spare parts, Shares of State Bank of India.

mﬁaﬁﬁml%GﬁWWml%mﬁmﬁ@aﬁﬁmﬁW%
feg vivs & orig fegeman ?

SHAT W, MY e fRT gu il W osrfad SAQiEl, WIE W W U,
BT % 3% sf=ar & afw |




8. From the foilowing.Balancé Sheeg, calculate Dth—Equity ratio : ‘ ’
Balance Sheet o
Amount | | Amoxint][
Liabilities Rs. Assets o Rs. | 1
| Share Capital | 64,700 | Fixed Assets soo&e |
Reserve & Surplus | 4,300 | Investments ' 15,000'
Secured loan 24,000 C@ent Assets~ | 1;7,590 ]
| Unsecured loan 21,000 | Loans & advances. 2‘,5602
Current liabilities 7,000 Misoellahéous Expenditure 5,000
; AT )
1 Provisions 3,000 i’mﬁt & Loss Alc : 4,@0
124000 | 124000

ﬁﬂﬁ@amﬁamﬂm-mmﬁmm

feaft e i
s 64,700 | wé W 80,000 |
e T s 4,300 | T 15000 |
g 7o 24,000 | W W 17500
s A | 21000 | MW W | 2p00|
=] et 7,000 | fafaw = | 5,000
e 3,000 | T @I 4,000 E
1,24,000 - | 1,24,000 -
3 FH’.
|
e o X



10.

11.

12.

13.

14.

232

How is an Investment Account maintained in the books of a company ?
Explain briefly.

U FA a6 afedl # e e W w-leE 5 oK s & 2 geg §
HHEET |

On 1% December, 2009, Mr. X purchased 400, 6% Debentures of
Rs. 100 each at Rs. 110 ex-interest of Z Ltd. from Mr. Y for cash.
Interest is payable on 31 March and 30 September every year.

How will you record the transactions in the books of Mr. X & Mr. Y
if each party had to pay bank commission of 20 paise percent ?

1 fewa, 2009 & . T I 400, 6% RGN F N YAH 100 5. F A, H4
10 & W & = Wa ot o ffies & 3, fr. o @ 792 & B | =5
sfded 31 W dwr 30 fyamR @ 27 & |

T T AR WO T qw L o ) e § R veR R ok sew
T H 20 W AR # R Y S F w2 @ 2

Units produced are 0, 10, 20, 30, 40 & 50. Fixed cost is Rs. 18,000 and
Variable cost is Rs. 15,000 at the production of 20 units. Prepare a
table showing Variable cost, Total cost and Average total cost.

0, 10, 20, 30, 40 &1 50 Ife Ied fFuw 7MY | @ @ 18,000 %. & @
IfEdg | 20 IS F IART W 15,000 5. 2 | TH GOn aER wREdd
A, F AT q= e o e S |

What is meant by a Private Company ? Explain any two features of a
Private Company.

T sl Fl ¥ o o A @ 2 et e ¥ e wmer wwemRw |

If Stock turnover is 8 times, Gross Profit at 25% on Sales is Rs. 60,000
and Opening Stock is Rs. 5,000 less than the Closing Stock, find
Opening and Closing Stock.

IR WY IEd 8 TN B, FEA oW fER W 25% ST 60,000 T & a4 ST
Y, AfH WY ¥ 5,000 % FH 8, @ IRAE Y 99 AT @Y I 0
ST |

“Insurance is a kind of investment.” How ? Explain.

‘o uE yER @ fafrEe @ 17 3R 2 wmemu
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Explain the steps to develop a PamH system.
YR yfa F fasfad FH F Fweh B g fafey |

Balance Sheet

15. What is Memorandum of Association ? Explain'ifs clauses in brief.

W o R 7 T S B w # Wy |

16. Explain any four features of Computerized Accounting System.

SfeRert Tl Jonel % R W el & s fafa |

17. Explain the meaning of NRI Banking and Corporate Banking.
- T et AT T SR (FReke) T & o wEERT |

1

'19. From the following Comparative Balance Sheets prepare Cash Flow
" Statement as per Accounting Standard III : ‘

s
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Liabilities 2007 — 082008 — 09| Assets 2007 — 08| 2004 ”— ‘
, | (Rs.) (Rs) | (Rs) | (Rs) ‘|
| Share Capital 30,000 | 50,000 | Goodwill 5,000 | 8,000 |
General Reserve 6,000 | 10,000 Building 30,000 251,@0 g
| Profit and Loss A/c| 8000 | 5,000 | Machinery 20,000 | 40,000
\ 9% Debentures 9,000 | 4,000“‘ﬂIn\':{‘estment 10,000 | - 12,oeq
| Loan 12% 3,000 | 5,000 | Stock 6,000 | 4,000 |
| /Creditors 8,000 | 5,000 | Debtors 5,000 | 12,000 |
| Bills Payable 6,000| 7,000|Cash 3,000 | 2,000 |
‘Bank Overdraft 7,000 | 4,000 | Discount on issue ’ 1 | 18
Provision for Tax 4,000 | 5,000 | of debentures 2,000\ 1,000}
L 81,000 | 95,000 |. 81,000 | 95,000 | -
S Adjustments : | v | " 4
()" Tax paid during the year Rs. 2,500. |
| (ii) Building cbsting Rs. 9,000 was sold at a profit of Rs. 1,000. _
(iii) 40% of Investments were sokl at 80%. 6




Following is the Balance Sheet of Mr. X, a sole trader on 31 March,
2009. You are required to prepare Cash Flow Statement :

Balance Sheet

Liabilities 2007 — 0812008 — 09| Assets 2007 - 082008 - 09
- (Rs.) (Rs.) (Rs.) (Rs.)

Creditors 10,000 11,000 | Cash 4,000 11,000

Outstanding Expenses 2,500 500 | Debtors 7,500 5,500
Loan from Mr. A 5,000 2,500 | B/R 2,500 _

X’s Capital 54,000 | 84,000 | Stock 10,000 14,000

Fixed Assets 47,500 67,500

71,5600 | 98,000 71,500 | 98,000

During the year, Mr. X introduced Rs. 10,000 as additional capital.
The net profit for the year after charging Rs. 5,000 as depreciation
on fixed assets, was Rs. 25,000.

AT AME 11 % oer frefafaa qoers faft faael 3 Jos yEr faewo

TR FfST
Tegfa-faaor

<Fand 2007 — 08|2008 — 09| ¥t 2007 — 08[2008 — 09

(®.) (%) (%) (®.)
ER ] 30,000 | 50,000 | TG 5,000 | 3,000
g g9 6,000 | 10,000 | & 30,000 | 21,000
g1 @ 8,000 | 5,000 | B 20,000 | 40,000
9% FUTHA 9,000 | 4,000 | fafrT 10,000 | 12,000
=T 12% 3,000 | 5,000 | &= 6,000 | 4,000
AT 8,000 | 5,000 | TR 5,000 | 12,000
@ fa@ 6,000 | 7,000 | U%S 3,000 | 2,000
de srfuferad 7,000 | 4,000 | EUGH & FeET W wE | 2000 1,000
F A 4,000 | 5,000

81,000 | 95,000 81,000 | 95,000
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@) a&ﬁzsoos mmgnamﬁmn
() vy e @ 9,000 F. &, 1,000 . asamqﬁmW|
(i)  40% fafErT & fawT 80% W I |

31qﬁf 2009 = fi1. msﬁwwmﬂi ¥ frfafas. fafa-feor @ 58
Yo faE dar Hifvw

et 2007 — 08 {2008 — 09| Fwfwaf 2007 — 08|2008 — 09| :
(®.) ®.) - ®) | ®)
F@R | 10,000| 11,000 |dF 4,000 | 11,000
e 2,500 500 | TR 7,500 | 5,500
|fswd = s5000| 2500|TEfFE | 2500 -
T S S| 54,000 | 84,000 | T 10,000 | 14,000
| | wRe | 47,500 | 67,500
71,500 | 98,000 | 71,500 | 98,000

o F W . T 10,000 % RS S wwRE @ 0 owE e W
5,000 . mwﬁ%maﬁmmm%oow a |

: Eazia & Bros. is a manufacturing concern of coolers. It provides you
' the following details. You are reqmred to prepare a statement showing

the cost of production : ’ . j 6
Work in progress on 1 January, 2009 :
At prime cost Rs. 51,000
Manufacturing expenses Rs. 25,000
Work in progress on 31 December, 2009 : |
- At prime cost Rs. 45,000
Manufacturing expenses Rs. 20,000
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Stock of Raw Material, 1 January, 2009 — Rs. 2,05,000
Purchases of Raw materials Rs. 4,97,000

Direct labour Rs. 1,71,000
Manufacturing expenses Rs. 84,000
Stock of Raw Material on 31 December, 2009 — Rs. 2,04,000
Office expenses Rs. 36,000
OR

Explain with example the meaning of Marginal costing, Standard
costing and Terminal costing.

AT e aeH TE For fafmin de 2, e e frefdfaa gEed @ €
A9 I AN fe@ed & fou faawor dam ifsw -

1 SFEd, 2009 # 15 fAffd @

T A W 51,000 %.
fafmtor == 25,000 %.

31 fewar, 2009 & 31 faffq = -
I A W 45,000 %.
fafmior =9 20,000 .

1 SFad, 2009 H F=2 @ F CF - 2,05,000 F.
Fed A H Y 4,97,000 %.
T 9 (TSI 1,71,000 %.
fafmfor = 84,000 %.

31 fe@=r, 2009 & F=d A H ©WiF - 2,04,000 .
FATE A 36,000 %.

rean

g emg-fuior, WWWWW(Z&YW)WW%W
30T Ofed gugme faf@w |

8 1,800



